= B = b 6% W (2 3F)

4 fgqip: @R
30+8 = 19+3 = 93+5 = 61+9=
49+ 6 = 96+9 = 22+8= 75+5 =
92+2 = 64+5 = 77+6 = 61+8 =
12+9 = 50+5 = 13+3 = 54+4 =
14+3 = 58+6 = 43 +9 = 98 +3 =
59+5= 70+3 = 14+5= 20+4 =
6+9= 24 +3 = 82+4 = 17+3 =
6+5= 28 +3 = 48 +9 = 26 +7 =
55+9 = 82+ 4 = 32+8= 93 +4 =
56+9 = 72+7 = 34+9 = 73+7 =
84+ 6 = 9+5= 37+9 = 99 +9 =
24+2 = 23+2= 90 + 8 = 14+3 =
67 +4 = 30+4 =
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YT (2 3{h)

30+8 = —33 19'3—19—61 93-5—93—183 61'9—61—67
Y4 T4 T3 73 5 %5 79 Y9
49-6—49—81 96'9—32—102 22'8—11—23
6 U6 O T 0T T4y 15+5=15
64 4 77 5 61 5
02 =2 =46 64+5:?:12§ 77+6:?:126 61+8:§:7§
12-9—4—11 13-3—13—41 54-4—27—131
773 3 50+5=10 03 73 R )
14-3—14—42 58'6—29—92 43-9—43—47 98'3—98—322
T3 3 T3 73 79 79 T3 773
59-5—59—114 70-3—70—231 14-5—14—24
~5= 2 =113 3= 5 =233 2= T TLY 20+4=5
6-9—2 82'4—41—201 17-3—17—52
73 24+3=8 I T)) 0373
6~5—6—11 28-3—28—91 48'9—16—51 26'7—26—35
5 5 T3 73 73 73 R B
55-9—55—61 82'4—41—201 93-4—93—231
79 79 T2 T 32+8=4 T4 Ty
56'9—56—6 72-7—72—102 34-9—34—37 73-7—73—103
79 7 T 79 79 7 T
4 | 37 1
84+6=14 9=3=35=13  37+9="7=45 99-9=11
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23-2—23—111 90-8—45—111 14-3—14—42
) P4 4 T3 3
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